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(For the candidates admitted from 2012-2013 onwards)
B.Sc. DEGREE EXAMINATION, APRIL/MAY 2018.
Second and Fourth Semester
Mathematics
Allied — INFERENTIAL STATISTICS
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What is meant by sample?
&nMM) GTEITMITE) GTEITGT?
2 State any to properties of estimators.
mﬁulﬁ@&éﬂm THTeUG QrenT(h LIGRTLSEET Fn ).
3.  What do you understand by point estimation?

yerefl wHILS®H eremmmed eremmen?

10.

State any two properties of maximum likelihood
estimators.

258 Hapsse; wHUSEsallar gsteus  @re®

LIGWTL| SENEIT &n.1)5.

Define composite hypothesis.

aglmwep erflCamaner cuamyuim.

Define critical region.

Uy : LNISSLLGHD UGS.

Define standard error.

gL benplianLs euenyuwimy.

State the formula for testing the difference
between sample and population proportions.
(PG QzrEd LOHMILD gamsaflen
syneflsEnédlo wwrer elgdurssHpsnar Cergamen
Qb eumIuT L dams.

State any two applications of t-test.

t- Gergeaanulilen gCsayd Qe uvwerLTHsmen
GINIGE:S

State any two uses of y?-test.

me-auréss Cergaanier ggmeug @ream® Lwetsamar
Qzfed.
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12.

(a)

(b)

(a)

(b)

PART B — (6 x 5 = 25 marks)

Answer ALL questions.

Develope an unbiased estimator of o> based
on a random sample of size n from a

population N(u,0?).

N(po®)  pyowvs Gsredio  Qops
qRssLLLL n  emeyseT GamayL  sablen
SigliueLe o -ar Geopwupn LIS e
DL

Or

Explain :

(1) Sufficiency and

(1) Effficiency of an estimator

& H S 1g uflen

(i) Gumgwmer

(i) dmer eumihg serenaamer efleufl&ge, .

Explain the method of maximum likelihood
estimation.

BuQum Hlape] pep wHUIS L eflersEs.

Or
Explain the concept of interval estimation.
@en_Qeuafl HISH wpavp LPH elersEs.
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13.

14.

(a)

(b)

(a)

(b)

Explain the concepts of
(1) Simple and alternative hypothesis.
(1) The power of the test.
(1)  ereflu wHmb wrHm aGCarersar
(i) Gergeanien Hper
S Sweunenn ellend@s
Or
Explain type I and type II errors.

(PSOGUME LHMILD QTERTLID euens enipsaner
ellems @,

Give all the steps involved in testing of
hypothesis.

a(HCaar Gamgaaruilen GredeT LilgSEETWLLD S(H.
Or

The mean lifetime of a sample of 100 light
bulbs produced by a company is found to be
1580 hours with a standard deviation of 90
hours. Test the hypothesis that the mean
lifetime of the bulbs produced by the
company is 1600 hours.

@M &OdmBgE T@ssL Ll 100  WBeremy
ars@aaflen sprefl pu sreown 1580 whHmibd
gl efassd 90 welsgefsdr @euparm
Aeramp,  Hmeuand swurfs@n — Beramy
Mers@aaflen  ayrefl <l sremn 1600
wenflggiefaer erenm erHCaremer Corgman Qsiis.
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15.

16.

17,

(a) The heights of 10 males of a given locality
are found to be 70, 67, 62, 68, 61, 68, 70, 64,
64, 66 inches. Is it reasonable to believe that
the average height is greater than 64 inches?

e6 uveddo @obs Csipbs®ss 10
Sgamasaien 2 wniser G Qarhssiiul (Hererg)

70, 67, 62, 68, 61, 68, 70, 64, 64, 66
@ syrefl 2 wigd 64-5@ afswrs QMHEED
ereu BLOL|eg) FRlwins @) me@ELm?

Or

(b) Describe the Chi-square test for independent
of attributes.

@& — eunds uewy gryrenuder Carsenarani
aleuf&seyLb.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

State and prove Rao-Blackwell theorem.
greu—9ersGeucd Csnmsens er(pdl Hlme|s.
Estimate a and £ in the following distribution by

the method of moments.

f(x,a,p)= ﬂ—x”'l e 0<x<w.

Jn)
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18.

19.

Spasramib Lreuas@ HmLy Sper wpapudd a wHmid

S —ellem wllienuis sreanTs.

n
f(x,a,p) = B rremiocxcn

()

State and prove Neyman-Pearson lemma.
Gpwern — Qwireern Capnseams er(pd Hlmies.

Random samples drawn from two places gave the
following data relating to the heights of males.

Place A Place B
Mean height 68.50 65.50
S.D 29 3.0
No.of males 1200 1500

Test the significance of the difference between the
mean heights of males.

Qran® QLiiselld @Qmbs Quaoblere Fameid
Qmbgl THHsLLLL arsaien 2 wyb Qgriumer
elleurid eu(mHLOTm)

@LbA @QuLibB
gymefl e Wb 68.50 65.50
L eflewdsd 25 3.0

g ansaflen erammanflgans 1200 1500

gans@psdlea Cuurear srerfl o wpsded gCseybd
egdwined 2 arergn? eramumg Cangaman Qawis.
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20.

Two samples of 6 and 7 items have the following
values.

Sample 1: 39 41 42 42 44 40
Sample2: 40 42 39 45 38 39 40

Do the sample variances differ significantly?

@ran® smsealdmbg seor 6 wHmD 7 eren
a@&sULL L 2 mriLigsaflen elleurmkiseT el LM :

saml: 39 41 42 42 44 40
sm2: 40 42 39 45 38 39 40

spseiler  wrpurhseid gCsaub  @lsgwmrsd
Qm&Aps? eerumg Cendlésal.
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